R#sfE PFEA (ES#Z2 1) No.l

1. RORZ RESFE L 72 S0, 6) (x—7)?+2x—7) -8
(1) (x+y)*+3(x+y)—40
.
s (1) (x4 3)% +10(z + 3) + 24
(2) (z+y)? —18(x +y)+ 81
.
%. 8 (x—-3)2-3(x—3)—4
(3) (x+y)*+13(x+y)+36
.
5. 9) (x—2)*-2(x—-2)-15
@) (x+y)?+6(x+y) -7
.
3
" (10) (z4+1)>+6(x+1)—16
(5B) (z+y)?—9(x+y)+18
.
.




R#fE PZEEA (BEEH®RZ 1)
1. RO ERBOMEL 72 S0,

No.2
1) (x+y)?*+8@x+y) +7

6) (x—2)2—2(x—-2)—15

.

(2) (z+y)*> —10(x+y) +24

2

(1) (x+6)2—9(z+6)+14

pia

(3) (z+y)?+8=x+y)+15

(8) (x+9)*+10(x+9)+21

@) (z+y)?*+9z+y)+ 14

9) (x+7)2—-6(x+7)+8

%

(5) (z+y)*+(z+y)—56

.

(10) (z—8)*+8(x —8)+7

%




H#ofE PFER (ES#®A 1) No.3

1. ROXERESE L 72 E 0, (6) (x—T7)2+12(x—7)+ 36

(1) (x4y)?—14(z +y) +48

5 (1) (x—3)2—2(xz—3)-35
2) (x4+y)*+9x+y)+ 14

pia

(8) (z—8)*+3(x—8)—54
(3) (z+y)*+9=+y)+18

9) (x—9)2—17(x —9) + 72
4) (x+y)*+13(z +y) + 36

.

%

(10) (z+7)> —6(x+7)—16
B) (x+y)?*+T7(x+y) -8

)




R#fE PZEEA (BEEH®RZ 1)
1. RO ERBOMEL 72 S0,

No.4
1) (z4y)?—11(z+y) +24

6) (x—3)?—3(x—3)—4

.

2) (z4+y)?*-8x+y)+15

s

(3) (z+y)*+7(x+y)+10

(8) (z—8)*+5(x—8)+4

4) (z+y)* —16(x +y) + 63

9 (z-72+9x—T7)+18

%

(5) (x+y)* —18(x +y) +81

.

(10) (z+8)*+5(x +8) — 24

%




R &5 fi#

h2nA (EEH];Z 1)
1. RO ERBOMEL 72 S0,

(1) (z+y)* —18(x +y) + 81

.

(2) (x4+y)* -3 +y)—10

No.5

(6) (v —4)*+18(z —4) + 81

4) (x4+y)*+14(z +y) +45

%

(5) (x+y)?+3(x+y)+2

(10) (z—3)*>-3(z—3)—4

9 (+72—4(x+7) -5

.

(8) (x+5)%+11(x +5)+18

.

¥




